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MORE EQUARONSOWINV ¥NTINUED }

FD"F¥e¥etn" 'From ( from
LAST )

#¥y¥¥¥# SOWE FOR X IN THE FOLLOWING .
WHAT  WE  WERE ¢ CLASS '

"

DOING  ON

1094 ( X
'

- ZX ) = logy (5×-12) MONDAY ?

Ta
[

IN  THIS CASE ...  THE  UNKNOWN  15  TRAPPED INSIDE  OF logy

TO  GET  RID  OF  THIS
,

WE CAN
' '

EXPONENTIATE
"

WITH 4 AS  OUR BASE .

410941×2-2×1
=  ylogy

(5×-12)

30  WE 'RE LEFT  WITH XZ - 221=5×-12 .  →  ×2 . 7×+12=0
4

YOU  CAN  FACTOR  OR  USE  QUAD .
 FORMULA .

x2 - 7×+12  = ( x - 4) ( × - 3) =o

qq.gg#EEFEEaEoeEi**F*EIEI*Eeee...-=-

'

i ⇒ *  an  ⇒

! KT
1

| TO  SOLVE AN EQUATION WHERE  THE 1
* AT  THIS POINT  Its A  GOOD IDEA  To  CHECK

I # UNKNOWN  15  TRAPPED  INSIDE  OF 109A ,

WE 1

THESE  SOLUDONS TO  MAKE SURE  I'M  NOT  TAKING
1

, CAN
"

EXPONENTIATE
" WITH  BASE  a TO  MOVE I

'

,
LOGARITHM  Of A NEOARUE  NUMBER !

THE  UNKNOWN  OUT  OF 109A . .

l
.1

1 IT  TURNS  out  THAT  BOTH
1

ie . logalx ) =L

I
I

X=3 ; *  4 work

,
⇒ al°9ak'

=  a
'

so  X=a
' '

:
i sods : 1×-37*1-

- = ... ...

...
- ...  -

-

Feeding SOLVE FOR Xi 1- RECALL :  LOG  wltuout A  BASE  Is

10g ( 6X ) -

10g ( 4- X ) = /og(3)
Assumed  to  BE  LOGO .

#
v

THIS  PREVENTS  ME  FROM  EXPONENIADNG  IMMEDIATELY .

NEED TO COMBINE  LEFT  
SIDE  INTO A  SINGLE  LOGARITHM .

 USING COG  RULES ,
WE  KNOW

WE  CAN WRITE loglbx) - logc 4- x ) AS log (46¥)

NOW  I  CAN  EXPONENTIATE  USING 10 AS  MY BASE .

101094*1,0109 "

any
. u¥×= stnowsaisnfototoohax.

# aunt

AT ,

bx=3L4 - x )

6×-12-3/2 ⇒ ¥4137



#D€¥,I| Assume  a > 0 .
solve For t : §?⇐¥*j⇒gy

NEE IF  THERES A  LOG
.

in  your  EQN ,
P '

l0ga( E-1) = Lo ga (5++7)
You SHOULD  EXPONENTIATE WITH BASEA .

WE CAN START By EXPONENDADNG  WITH BASE  a
.

a

|0ga( TH )
= alogatstt 7)

_
WHICH SIMPLIFIES TO t2l=5tt7 5-0=5 :

e ' 5+-8=0  no

Qonuatgaruaunyargrrmuuapgtf
t= 6.2745 )

ig t= -1,2749
CALCULATOR GIVES THE FOLLOWING :

(
- t= - 1.2749 § t= 6.2745

.

↳
You should CHECK THESE ANSWERS TO MAKE  SURE THEY

WORK  WHEN  WE PLUG BACK INTO EQN .

#,¥IFI| SOWE For ×
:

B =p @
rx

NOIEFLRST : IN  ORDER  TO  SOWE  FOR X
,

WE DO NOT  NEED TO  KNOW  WHAT  B) P
,

or  r Are .

THEY'REJUST  NUMBERS ,  AND  WE 'LL  TREAT  THEM  AS  SUCH .

we CAN LOGARITHMEATE :

§
*

BETEIT.at#erE=uthT
In (B) = ln ( Pem ) * - - - - - - - - - - - - - - - - - - - enlperxjt nxlnlpe )

¥- sso ln (B) = lnlp ) + RX . . . lsouatex bn ( Pem) = lnlpltlnlerx )

maesteg
text

LAST CLASS WE SOLVED 12 = 5£× By DIVIDING BOTH SIDES BY 5
,

THEN

LOGARITHM  EATING .  WE  CAN  DO  THE  SAME  HERE
.
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#%Ex¥I Yowgerdoxrsxitiogdxis

REWRITING WILL MAKE THINGS  EASIER :

log ,
( × ) + logs ( x - 3) = 1

-

USE  LOG  RULES TO

COMBINE

logs ( X ( x - 3) ) =/ → Loga ( x2 . 3x ) = 1

NOW EXPONENTIATE  WITH BASEL .

logz ( ×2 ' 3×1
= 212

WHIM GIVEG  US :

X2 - 3X = 2 → 122-3×-2=0

USE CALCULATOR  Or  QUADRATK FORMULA . .

X= -

.
561 or  x= 3.561 -

CHECK  THESE

ANSWERS !
NOTICE  THAT  IF X= -

.
561

,
WE  HAVE 10gal.

561 )
,

WHICH DOESNT EXIST .

⇒21=3.56115
 THE ONLY SOMDON .

LAST CLASS WE SAW THE FOLLOWING Fact :

IF a
×

= a
Y

,
THEN 21=4 .

WITH THIS  IN  MIND
,

WEHAVE :

EEEEEEEEE.EE#tFaIITT←-=f#yItf¥I
Soweto

Ying ,(ya→)=wgy(2
USING THE FACT ABOVE

,
WE KNOW w¥)MUST HAVEy23=2y .

→ y2 -

2g -3=0
,

SOLVE  THIS  QUADRATIC

. . .  IT  FACTORS AS ( ytl )Ly3)=O .

30  WE  HAVE y=
- I ok Y =3 .

 CHECKING OUR ANSWERS
,

WE  SEE y=
- I WONT WORK

,

BECAUSE  On THE  RIGHT  SIDE  OF  EQN  WE 'll  GET Wgqt2)
.

so  our  only solution IS |Y=3I


